[image: image1.png]_ Fcalibr

Fie Device
[Fam Hex [Rox [t Iwn |ne | @[ Devieedata a
T Toeaar  T12E 0 T B b B Clear
2 00y 798 0o 1 e 00057 00281
8 007340 12521 0o 1 FaM43_|0.0011 0.0050 0022 (=
4 Oossts 10012 0o t HEX35_| 0.0000 00023 00264 T
£ Olsze  4%53 o 2 HEX45_[0.0003 00029 o138 42
o Oohgen 0o 2
2 e 0 2 ROX36 {0,000 00004 00217
5 Olege#14] 0o 5 ROX48_{0.0000 00010 o17s
o 00201 s 0o
I 00987 222 0o 3
1 00 eas 262 0o 3
2 00738 252 0o 3
Rotor Tpagu

s 00401 1208 0o n .
s Solgs 120 o0 . cros | Meoes 0 S c s cowexas Aok
15 00458 1457 0o 4 I~ FAM [ HEX [~ ROX
16 0045 1424 00 4  Rag02 Run CRAM4B G HEX4E O ROX48
17 00278 %5 0o s
[ 00214 £ 0o s
s 00221 704 0o s
B 00180 78 0o s
2 0088 4 0o 6

0078 26 0o 6

0092 26 0o 6

00103 25 0o 5

052 142 0o

0043 112 0o

0045 130 0o

0051 142 0o

0sl1s 28 0o

0032 7 0o

0sl1s 37 0o

0022 45 0o

0001 00 0o

0001 00 0o

0001 00 0o

0001 00 0o

0001 00 0o

0001 00 0o

001 00 00

Ge o (B i





